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| Introduction to Functions: Chapter Test 1

-1 1
/ Give the next 3 terms in the sequence: —9—, g; =l5L . -
: 2. Usingtherule? =7+ 2, find the sum of the terms (¢} which have ranks {r)of0,3and 7.

' 3. Plotand label the following coordinates on the Cartesian plane below:

A (0,-2); B (3,0); C (-3,5); D (-5,-9); E (-3,-3)
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4. In the following scenarios identify the dependent variables by circling them:
a. Ice cream sales are said to go up when the temperature gets hotter.

b. Asit was getting closer to game time, the number of spectators entering the stadium
increased.

€. To assist the growth of a plant, fertilizer is added to the soil on a regular basis.
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5. The following gr

year:

95
G0~
sl
80+

55+

~Weight (kg) |

aph shows the increase in weight of a Saint Bernard puppy over the span of a

90 Chaptér 3
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1 2 3 4 5
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Fill in the following table of values to represent this situation:

o

i
7 8 9 10
. Age (months)

Age of puppy (months) Weight of puppy (kg)
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6. Use the table of values below to obtain a rule.

a. b.
X y X y
2 3 0 -2
- 3 8 1 3
4 15 2 8
5 24 3 13

7. Given the rule below, complete the following table of values.

a. y=3x-1 b. y=2x"+1
X v X v
) -2
) 1
4 4
3 5

8. The rule that relates the money left over and the number of packages of gum bought at $2

each, if a person had $10 at the start is given by y =10—2x . Complete the table of values and

plot the coordinates obtained on the Cartesian plane.

Number

Money feft & Money
= 1o ok g left(s)
‘ | &x packages
N | 8
] 2 (e
Lo} <) 2
Lk
- , o g 5 O
= 4 Number of

- gum packages
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11. Draw aline that such that it has a decreasing rate and it intersects with the x-axis at -2. Label
and name 3 other coordinates on your line. Give the rule of your line.
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12. Plot the coordinates obtained from table A and B on the Cartesian plane below. Connect the
coordinates from table A to form a line. Connect the coordinates from table B to form a second
line. At what coordinate do the two lines meet?

Table A Table B
X y X y
0 8 3 -7
1 3 5 -3
2 -2 8

0 -7 9
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